TR

180° Hinge Assemblies

Some assembly required

EX

PL

MT-HG-5-06-06-06-AS

Components Included
Qty. 2 - MT-HG-S-06-06-06
Qty. 1- MT-HG-S-PP-06

Qty. 6 - MT-HW-P-RP-0200-0016-0109

JH

PA

MT-HG-§-12-12-12-AS

Components Included

Qty. 2 - MT-HG-5-12-12-12
Qty. 1- MT-HG-S-PP-12

Qty. 6 - MT-HW-P-RP-0200-0016-0109 Standard Material | A36 Low Carbon Steel M R
Standard Finish | 10 - Zinc Clear

Available Finish(es) | 10-12, 20-33
Hole Size | 11/16" (17.46mm) Ac
Recommended Tools | Tool Kit 1 | Ball Peen Hammer

For More Info | www.ModTruss.com

Part # Recommended HW
Description Hardware
MT-HG-5-06-06-06-AS | 6" x 6" x 6" 14.501bs 5/8"11 Thread Grade 8 Bolt, 2" Long

6 180° Hinge Assembly (152.40mm x 152.40mm x 152.40mm) | (6.58kg) S eI pated Noster

TK

(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

MH

*Only 12" Hinge Assembly is compatible with standard Truss F H
Electrical Hazard In Stock Reusable Compatible* Serialized & Traceable
U.S. Patent No. 8,418,425 & other patents pending G I_

97




Series | HG Hinges

Product Number | MT-HG-S-XX-XX-XX-AS

SYXXXXXXSOHIN
AT9W3SSY JONIH 081
LA NOISIAZY _ w_.ON\m _.\w . =
wrpegmsesy |- SSNALPON
NId 3ONH
SV-90-90-90-S-OH-1W
« f
[029] oze]
00€ 05
(001

Nid 3ONIH

TR

EX
PL
JH
PA

U.S. Patent No. 8,418,425 & other patents pending
98

MR

AC

HW

TK

GL



	180-Degree-Hinge-Assemblies_ModTruss-1-1
	180-Degree-Hinge-Assemblies_ModTruss-1-2

